EARAROBEEIERT — 2 N— IBISH —F

201678160 (+) 2EES5H

R EEXl

REEF 4t [HETE] i

EZS

] ‘[?éiﬂ%ﬁaﬁ] — | & (&) 17000 R

[A~&£] 17 :4,800,000  ~ 23 :1,900,000 8 33 :1,200,000 3 43 :720,000 § ~ 5 j& :480,000 H

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. NN ATIE: TN 148, -1-1- . . FEE (Em)
17l N1 Ty ReR 4 3 iy 1(4_8)0 1-1-1-1 | 39.1| 86.5 | 1 zzg)s *i;&ﬁ
LxLThANAN BERy LR gilll IE3%E
9 . s 3 | AEHT 1:48.3 2-2-2-2 [39.4| 841 | 3 482 | /INEfREL ()
21815 R—FXF ¥R 54.0J ©) (-4) @%KT%Z
LI AT A—H— B:RTFALL B HFEEMKXSHIVAT RS
. SN . LERAH . —13-9- /ML (3ETH)
305l 9| IN=Ny P> it 3 ke (13418/29> 13-13-9-8 | 39.1| 79.0 | 2 12(2)? e
L:rs/0704 Bi¥a—-bIXTLA HE&Tr—L
; g A H— 4 3 | FEE 1:49.0 8-7-8-7 |39.4| 78.2 | 13 404 | REEXLT (EH)
Ty ALY 54.0 (3/4) () | B AHHHS
LIV INATA—h— BEEA 27Xy b Fxap e
. 4 3 | BEHEA 1:49.0 10-9-11-8 | 38.9 | 78.1 | 14 | 416 |fREEME— (&)
70/ )= 54.0 (7€) (-6) | A1
RiZXE—YrIA—X B:FLININS Bl BEf
4 3 | AEIHE 1:49.1 11-9-6-3 [39.7 | 77.5 | 5 452 | BIUER (EiH)
LFvFrIEH A51.0 (1/2) 10y | @) EFH - TY—F—X-a=%
R:HREXRY BLFrFrIT ik e
< 4 3 | Bl 1:49.2 6-5-4-3 | 40.0| 76.8 | 10 458 | RBEE (EH)
XX TI— L 54.0 (7€) © |MEE
R:F1—T2h4 B.THIAF-27 KIFEBHS
— = 3 | RLRkA 1:49.7 14-14-14-11| 39.3 | 72.3 | 14 | 496 |#FAE— ()
TIT=> i 54.0 3 2) A28 XLy
R:T714—=TZXh4 B:NFAXTAI FE KIS
. HEA : 1514 MEERE (58)
FTINSLF) 1) — 4 3 TES (11.419/.49) 15-15-14-11| 39.5 | 70.7 | 9 (5_182) e
Riw>NnNy&>h7z B:L>RK71)—Fz1 HE77—»4L
SN . BT . ~12-9- 5 {88 5
gy >dend > [B] 3 | S a0 | IR | o | gk | tg? e (E#)
kA= Bd L T T~ BT 7 —L4
v RI 5 — 4 3 | KEHRER 1:50.3 2-3-3-3 | 41.3|68.9 | 6 428 | DNBEAERL ()
11814 Ly FSa— 54.0 2 1/2) P
LA TATv— BTy TN — (B) A1 -FRL—->a>@aEI7
=: s 3 | Bl 1:50.9 6-5-4-6 | 41.7 | 64.7 | 8 506 | ATTENE (i)
12|58 W—F74147 (B] 54.0 (31/2) 1) (#%) O—LL—>29
L:¥r/0704 BIVF—-XT4T BB ALS
. - 43 | BEXLT 1:51.9 5-7-12-15 [ 41.7 | 57.1 | 12 | 426 |fER#B (&)
1317113 Ah—=Ly rF¥ v (B] A51.0 6) (+14) ) KEBA—2757
A4 TAT v — BiILT7oF— IRASA4S
; 4 3 | EHE 1:51.9 8-9-12-14 | 41.7| 57.1 | 7 44 | FHEEX (ER)
14 10| E7L— b 54.0 (NF) (-4 | B) HAEL-ZK-X
LN—E>Vv— B:X-—TI774Ivh (B) #HBEA-FKL—Ya>AET7
. QN B3 | BBESE 1:52.5 2-3-6-11 | 43.1| 54.7 | 4 460 | EEMEE ()
150 11| F—V 77T b 54.0 3 1/2) e | W GIL-soy
L:d=IWR7Va—=b B:2ALRIRNYLT () HEI-RL—-2a>AET 7
@ 21 L
£ 51.8-39.1
NA>ZA L | 7.1-11.5-12.0-12.6-13.0-12.7-13.0-12.7-13.4
® 1—F—@EBIERL
13—74— 12(15,11,14)13(1,8) (4,10)2(3,6)9,7-5
Pal=5F= 12,15(11,14) (1,8)-(4,13) (2,3,10)6-9,7-5
== (x12,15)14(1,8) (11,3)4(6,9)2(13,10) (5,7)
40—F— (x12,15)-(1,14,3)8,4(2,6,9) (5,11,7)10,13
[ N5
B 12 230M 714K 12-15 350 e E 7-8 740M JEE 9-12-15 1,210
# B 12 120M 9-12 240M B = 12-15 920M JEH 12-15-9 5,770
15 180H4 9-15 480M B H 12-15 1,620
9 140/

ABICOVWTRDTEEERROODE. TR LIV,




